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Pythagorean Theorem Notes 

In any RIGHT triangle, the sum of the squares of the two legs is equal to the square of the hypotenuse. 
 
 

Formula:  a2 + b2 = c2 
 
 
 
 
 
 
 
 
 
 

ALL PROBLEMS START WITH WRITING THE FORMULA!!! 
 

Use the Pythagorean Theorem to find the length of the hypotenuse of each right triangle.  The lengths of the 
legs are given.  Round decimal answers to the nearest tenth. 
 
1. a = 5 cm     b = 18 cm 

 
 
 

3. a = 15 in     b = 20 in 
 
 

2. a = 7 yd    b = 11 yd 
 

4. a = 6 km    b = 6 km 

 

Solve each equation. 
5. 132 = a2 + 52 8. 252 = a2 + 72 

 

 

6. 292 = 212 + b2 9. 3402 = a2 + 1602 

 

 

7. 172 = 82 + b2 10. 5002 = 3002 + b2 

 
 
 

The measures of the three sides of a triangle are given.  Determine if each triangle is a right triangle. 
 

1. 8 km, 15 km, 17 km 
 
 
 

2. 8 mm, 9 mm, 15 mm 

3. 15 in, 20 in, 25 in 
 

4. 10 mi, 20 mi, 30 mi 

 
 

Pythagorean Theorem Notes 

hypotenuse 
c 

The hypotenuse is the longest side, 
always opposite the right angle, and 
always represented by c. 

The legs are the sides that make 
up the right angle and are 
represented by a & b 

 


